
��� ��� ��� 	�� 
������


����� ���	���


������ �� ����� ��� �������� �������





��� ��� ��� 	�� 
������





��� ��� ��� 	�� 
������


����� ���	���


������ �� ����� ��� �������� �������



� ����� ��� !� "�������� #$!������% �	��

���	����� �������&
"�������� #$!������% �	�� �'�� (�����%	�� ����� )*���� )+ �,-� ./
���� 0  1�2�3'� 44'3'3

"�������� #$!������% 5���� 6�� 
��� 
	���	� 
������ 
7 ��� 38����� .
7
���� 0� 43� 633 3���

"�������� #$!������% 7��� #	� �	�� ��� 
����	�� 
	���	� 9���	��� :��	���� 6��6� 7$�	�����
���� 0'� 1�26 36�� ����

��� ��%�	 �� 	�� 7$	��� 	� !� ����	����� �� 	�� 7$	��� �� 	��� ;��� ��� !��� �����	�� �� ���������� ��	�
	�� 9�<���%�	� ,���%�� ��� #�	��	� 7�	 ��33�

7�� ��%�	� �����=��� >� <��	 �� 	��� <$!����	��� ��� !� ��<���$���� �	���� �� � ��	���=�� ���	��� ��
	������		��� �� ��� ���� �� !� ��� ������ ����	������ ����������� <��	���<���%� ��������% ��
�	�������� �*��<	 �� <����		�� !� 	�� ./ 9�<���%�	� ,���%�� ��� #�	��	� 7�	 ��33� ��	��$	 	�� <����
<��������� �� 	�� <$!�������

?���	 <$!������ ���� !� "�������� 
������ �	�
��<���	�� ���4

����� ���	��� <$!������ ��� !� "�������� #$!������% �	�

��!���� �� 9��%���� 9�	���%��%8��8#$!����	��� ,�	�
������ 
������ ��

��� ��� ��� 	�� �������@
������ �� ����� ��� �������� �������� A ��� ���
<�B ���

��=� ��� ��& ��� ��� ��� 	�� �������@�������� �������� �����
5���$��� !�!���%��<����� ���������� ��� ����*�

5
"> �8 ���8��648' 1���� <�<��2
�� 
����=�� A ��%�� �	�	$�� ����� �	�� A (���	 "��	���� 5� �������� ��������� 55� �������� ���������

��� ��� 	�� �������� 555� ��	���

/,��'3�
�� ' ���6
6  � �� ��� A ����

���6��'4'�

5
"> �8 ���8��648'

7 ��	���%$� ������ ��� 	��� 	�	�� �� �=����!�� ���� 	�� "��	��� ��!����


�	 �� ��@��<	 "������� )�� 
	���
!� ,# #��	���		��%� 7����!$��� "$���
#���	�� ��� !�$�� �� (���	 "��	��� $���% ����8���� <�<�� !� �� 5�	����	����� �	�� #���	��� 9�������

?�� �$�	��� �������	��� �� "�������� #$!������%� =���	 �$� ��!��	�&
����!��������<$!������%����



��������

�����	� 

��
����	
��� 
�

������� � 	�� 
���� 
�������� �
;��	 �� ���C �

	�	$	��� ��� �
(���� #�<�� �
;��	� #�<�� �
,�=���<���	 �� <������ ��%����	��� 6
��� ����	 ������% 6
��� ������ ������% 6
��� �����		�� �	�%� 6
��� ��<��	 �	�%�  
��� 	���� ������%  
��� D�$�� �� �����  
����� 7����	  


�������� ��%����	��� �
)	��� <��������	��� <�������� '
#��������	��� �����	 �����		��� '

<������ <��������	��� ��E$����� '
#��������	��� E$��	���� ��� �����8��� ��	���� 4
��� #��=�	� 
��!���F "��� 4

9����� ��� 1���� ���2 4
�$��<��� ��� �
����	��� �

�������� ��%����	��� �
�$��<��� 9�$�	 �� �$�	��� ��
�$��<��� 9�$�	 �� D$��� ��%�	� ��
�. 7�=����� 9����		�� �� 	�� �������% �� 
����=�� ��

>�	$��� G$�	��� ��
��� �	�$�	$�� �� 	�� ��� �� ��%����� ;���� ��� >��	���� 5������ ��
9�=�� ��� ��
��� �	�$�	$�� �� 	�� ��=�� ��$�	� �6

#$!��� ��� �6
��� �������� ��$�	 ���	�� �6
9���	�	$	����� ��� � 
��� 9������F� 9�$�	 � 



)	��� �����$	��� ���	��� ��
��� ��%�� <��������� �'

�����	��� �'
"�����	��� �'
��� ���� D�%� 9��������� �4

��� ��%�� ���	�� �� 
��	���� �4
��� ��=�� ���	�� �4
��� �������� ���	�� �3

.���% 	�� ��%�� <�������� �3
��� ���	�� �� %�=������	 �3
��!!���% ��� ����%� ��
9���%��% ��	����	� <����� ��
"���%��$�� ��
7 ����%� �� <����� ��
��� ���$�	� ��
��� �$����	 ��	$�	��� ��


$����� ��
������ ��	�=�	� ��
���������� ��

	�	$	��@
5� �6
9���� � 

������� � 	�� ��������� ���������� �� ��������� ��
��� 
����=�� 7�	 ���� ��
��� 
����=�� �$��� A ����� =������� �4

$!��E$��	 ��%����	��� ��� ��=��� �3

����=�� 7�	 ��6' �3

����=�� 7�	 ���� �3
��<��	 �� 	�� 9����		�� �� >$����% 1"��%%� ��<��	2 ��

�* ,���������	��� 7�	 ��4� ��
��� >$����� 
����=�� ��� D���	� :���	��� 7�	 ��4� 6�
��� >$����� 
����=�� ��� D���	� :���	��� 7�	 ���� 6�
��� >$����� 
����=�� ��� D���	� :���	��� 7�	 ���4 6�
D���	� 7�	 ���� 6�
>$����% ��� 
�������� )���� ���� 1
5 ���� >�� ��62 66
>�	����� D���	� 
��=��� ������ ��� D���	� 9��� #���������� 7�	 ���� 66

��� >$����% ��� 
�������� 9�$���� 6 
��� ���� �� ������������ �����	
 6�
��� 
����=�� �$��� 6�
�$�� 6'& >�	�����	��� �� 5�	��	��� 	� #���	��� 6'
�$�� 64& #��	8��%��	��	��� ��$��	��� ��� #���	��� 1#��#2 64
�$�� 63� 
$�<������ ���� #���	��� !� �� �
7 63
�$�� 6�& ��� ,$	� 	� !� 
�������� �*������ 6�
�$��  �& ���<����!���	� ��� 
<���� �� #���	��� 6�
�$��  �& 7������	��	��� �� 
�������� ��� )	��� ?���� �� #��� ������  �
�$��  �& �������  �
�$��  6& 5��<��	��� �� #������� ��� �E$�<���	  �

�� ��������



�$��   & 
$<��=����� �� 
����=��  6
�$��  �& ,������%� �� 
	�	$	��� ?$��	���� !� � ����� 
$<��=����%
7$	����	�  6

� ��������� ���� �� ���	
�	�  6

$�����  �
������ ��	�=�	�  �
����������  �

	�	$	��@
5�  '

������� � 	�� ��������� ���������� �� ���������  !
��� �$<��=����� �� �����=��  3
7���%�� �������$�	 � 
��� 5�=��	�%�	��% 9����		�� �4
��� 9���$�	 ��� 9��<�	���� 9����		�� ��
���	���	��� 	� 	�� ��%��	�� '�

$����� '�
������ ��	�=�	� '�
���������� '�

	�	$	��@
5� '6

�������  "##�����$����� ������ ��� %&� ' 
9������� %�=������� ' 
��� 9��������� ��� D���	� 9��� 7$��	 ��� 5��<��	��� '4
���� ����%����	 '3
>�	����� 5��	�	$	� ��� 9������� �*�������� 4�
9��<����	� 4�
��� D���	� 
��=��� 9����������� 1)�!$�����2 4 

$����� 3�
������ ��	�=�	� 36
���������� 36

	�	$	�� 3 

������� � %�������#� �� ��������� ���#��#� !�
>�%��%���� 3'
��� �$	� �� ���� 3'
"����� �� 	�� �$	� �� ���� 3�

�*<��	 ��	������ �'
9�$��	��� �4
9������� ���$�� �� ��!�$� �������	�� ��	� ��$��	��� ��

9��<����	��� ��
:������$� ���!���	� ���
9������� >�%��%���� 
����� ��� ��$�	� 19>
�2 ���

��%�	� ��� ����	�	���� �� 
;�	�������% ��� ��	�������% 	���	���	 ��'
;���%�$� !��	� ��� ����%�$� ���� ��3

��� ���<����	��� ���	�� ���

$����� ���

�������� ���



������ ��	�=�	� ���
���������� ���

	�	$	��@
5� ���
9���� ���

������� ' ������� ��� ������� ���
7�$�	� �� 

����� ���
��� ������ �� ���� !��	� ���
�������� ��4

$����� ��4
������ ��	�=�	� ��3
���������� ��3

	�	$	��@
5� ���
9���� ���

������� ( )�� ��� "$��� �� *���������� ���
������ ���<��% �� <���	��� �6�
,�	� #��	��	��� 7�	 ��3 �6 
7����� 	� D���	� ������� 7�	 ���� �6 
,�	� #��	��	��� 7�	 ���3 �6�
,������$�� �� ��������	��� �������	��� �6�
;��	��% � �	�	����	 � �
;��	��% ��<��	� � �
5�	���$�	��� � �
"��� �� 	�� ��<��	 � �
7<<����* � �


$����� � �
������ ��	�=�	� � �
���������� � 6

	�	$	��@
5� � 6

������� ! "���#�� �� 
�� ������� �� �������#���� ��� �����
�����#���� �  

7����	�� �����<	��� ��� ��	������� ��<���$�	��� �  
D$��� ?��	�����	��� ��� ��!�����%� 7�	 ���� � 4
7!��	��� � �
7��<	��� ��6
9���� <��	��	��� ��4

$����� ��3
������ ��	�=�	� ���
���������� ���

	�	$	�� �'�
9���� �'�

������� + "���#�� �� ,��������� 
�� �'�
��� ���	���	 �� ��<������	 �'�

���� ��������




	�	$	��� ,��<$	� �����$	��� #�����$�� �'6
;���%�$� ��������� �' 
.����� ��������� �'�
,���������	��� �� ��<������	 �''

�=����	 	������ %����� �E$���	� �''
,���������	��� �� %��$��� �� ���� �'4
,���������	��� �� %��$��� �� ����!���	� �'4

��%�	� 	� ���=� ��� <�� �� <����	��% ��	$�	���� �'3

�	����	� ���=� ��� <�� 1��<������	 7�	 ����� 9� �2 �'3
#�	����	� ���=� ��� <�� 1��<������	 7�	 ����� 9� �2 �'�

#$!��� 5�	����	 ,������$�� 7�	 ���3 �'�

$����� �4�
������ ��	�=�	� �4�
���������� �4�

	�	$	�� �4�

������� �- "����#����� �� ��������� ���#��#� �(�
/�� �4�
#����������� ����$�	 �46
7�<��	� �� ��� �43
��<������	 �4�


$��� �3�
#����������� ����$�	 �3�
9�=�� ��� �3 
��<������	 �3'

,����� �34
#����������� ����$�	 �33
9�=�� ��� ���
��<������	 ��6


$����� �� 
������ ��	�=�	� ���
���������� ���

	�	$	�� ���
9���� ���

(������� ��4
��!�� �� "����@
	�	$	��@
5� ���
��!�� �� 9���� ���
5���* ��6

�������� ��



���	
��

��� ����	 ���	��� �� ��� ��� ��� 
�� ������� ��� ���		�� !� � �������� ��������
�������� ��� <$!������ �� ����� 5	 ��� � ������� ����$���� 	� ��������� ��	���8
	$��� <��	��$����� �� �	 ��� ���		�� ��	� � �$�� $�����	�����% �� 	�� ����� ��
<���	����% �����=��� 5	 ���� ���=�� 	� ��$��	� ���8�����=�� ��	� ��%��� 	� 	�� ����
��� ����$�	�!���	� �� 	�� �������� ;��� 	�� 	��� ���� 	� ��=��� 	�� !����
�������� ���	 	��	 ��� ��� !��� �$	 �� ��������� 	�� ���% 	� �� G$�	��� 	� �	� 5 ���
	��� ���	���	�� 	� $����	��� 	�� ��=������ 7�	��$%� 	���� ��� !��� ���� ����%��
�� ���	��� ��<��	� �� 	�� ���� ���� ����� �������� 	�� ����� �� ��	� ����� ����%�
����� <��	��$����� �� 	�� ����	 ���	��� �� 	�� ��%�� ���������� ?�� 	��� ������� ����
�� ��������F� ���%���� ���� ������� �� 	�� !���� ����� ��� ��8�$	������<�
���� ������ ���	��� �� ��	����� 	� ������ ��� $<��	� �����=�� �� ���	���

��<��	� �� ��� <��	����	 	� 	���� <���	��� ��� ��<������	� 7 �$�!�� �� 	�<��� ��=�
!��� �*<������ ��	� 	�� ����$���� �� ����� ������ �$�� �� ��<��	� �� ��������
%�=�������� �� 	��� ���� �	 	�� 	��� �� ���	��%� ���� <���	 �� ��<��	��	� �� ����
��<��	� �� 	�� ��� ��=� �� �<��� ��� 	�� �$�� ����$���� �� 	�� D$��� ��%�	� 7�	
���3 �� ��	 	� !� ����� 5� %������� ��%����	��� ��� ��=�� ����� ��=� !��� �������� 	�
�����	��� ��	��� 	��� ������% �� ������ ��� 	���� ���� �<������� ;���� <����!���
���������	��� �� %�=�� 	� 	�� ����������� �� ��� �� 
��	���� ��� >��	���� 5�������
���� 	��	 �� ��%���� ��� ;�����
��� ����%�� �� <����������� ��%$��	��� ��=� !��� �����<���	�� ��� �� ��	��8

	��� ��� 	� $	����� 	�� ��� 
����=�� �$���� ����� ���� ���%������ ��	����� 	� !�
<$!������ �� 
���� ���6� D���=��� 	��� ���� ��	 !� <$!������ $�	�� 7<��� ��� �
	��������� ����� ��������� �� ���� 	� 	�� �$���� ������� ���� ���� 	� ����� ���
����������� ��	�� 	��	 ��	��
5� 	��� ���	���� ���� ���<	�� ��� H������ 7�	�=�	�F �	 	�� ���� ����� �� ����%��� 	�

���< 	�� ������ 	� ��=���< 	���� �������%� �$�	��� ��� 	� �����	 �� 	�� �<<����	���
�� 	��� �������%� ��	� <���	���� 5 ��<� 	��	 ��$ ���� 	���� ���	����� ��� 	�� !��� ��
� ������ ���<�$� �� ��$� <����������� ��=���<���	�

������� �� �����



�����
������

.�	�� 	�� ��	� ��3�� 	� ����� ������ �	���� ��� ��� ���� ��	 �=��	�� �=����	 �� ���	
��������� �$����$��� �<��	 ���� 	�� <����������� �$��� ��� ����� �� 	�� ���� ���
����$���� �� 	���� �$!G��	� �� ��������� <��%������ ��� %���$�� ��� =������
��	�� ���*	����!�� ������ !���$�� �� 	�� �����	��� �	����� !���� ��� �$�� �� ������
���� ��� ���	��� ����$���� ��� ���� ������ 	� 	�� ��	����	 ��� <������� �	$�� �� ����
������� 	�������� ;��� ��������� !����� <��	 �� ��%��� ��$��	���� ���� �����
��� ���$��� ��<���� ��� ��%��� <��%������ ���� ��=���<��� 	�� ����$���� ��
�	���� ��� ��� !����� ���� �����<����� 5� ���� ����� 	�� 	�� �����<����� ����
	�$%�	 	�%�	��� �� ��� ���$��� �� �	���� 	��� ���� ��<���	��� ;���� �	 �� ��<��	��	
	� $�����	��� 	�� �����	��� ���� !�	���� 	���� �	 �� ���� ��<��	��	 	� !� �!�� 	�
��<���	� 	���� �� ����� 	� ����%���� 	�� ���������� !�	���� �������!�� �������
��%�� !�$������� ��� 	�� ���� ���*�!�� !�$������� ��	��� ��������	 �	����� !�������
5� �$����	 <���	���� �����=�� ��� ���� ����� �� 	�� �������� ��� ��<��	 ��

��	�%�	��� �� ��������� ��� �!�	�	����� ����� ��	�� ����� 	� �����$� �� �������=�
<���	���� 5� ���� ����� 	��� ���� �� !��� �� ���$�������	 �� �$	��	�� �������%� �� �
���� �� $�����	�����%� ����� ��=� !��� ������� ����%�� �� 	�� �	�	$	��� ��%$��	���
�� 	�� >�	����� D���	� 
��=��� 1>D
2 ��� �� 	�� =����$� ����	� <������������
������% ��	��� 	�� >D
 ��� �� <��=�	� ������� ��� ��� �� 	��� !��� �� 	� ������!�
	�� ��%�� !���%��$�� 	� ����	� ���� <���	��� ��� �<<�� �	 	� ����������
��� ����	 ���<	�� ��������� 	�� ��%�� ��������� �� �	 �*��	� �� ��%����� ;����

���� �� %������� >��	���� 5������� ��	� ���� ���������	��� �� 	�� ��������	
�	�$�	$�� �� 
��	����� ����$%��$	 	�� !���� ����� 	���� ��� ����������� �� 
��		���
��� 	��� ��� ������	��� ��� ���<	�� ��������� 	�� ��������	 ��$���� ��� ���	��� ��
��� ��� 	�� ��%�� <�������� ��=��=�� ��� ���� ��=���<���	� �� ��������� ��=�
!��� $��� 	� ������	� ��� <����� ����%�� ��� !� ����� ;���� <����!�� �*��<���
$��� 	� ���$�	��	� � <���	 ��� 	���� ������ 	� !� �� ��	����	 	� �����=��� ��� �$��
�����	� �� 	�� D$��� ��%�	� 7�	 ���3 ���� ��	 !� ���� ��� ���� ������ D���=���
��=��% !��� ��	���$��� �� 	��� ���<	��� �	 �� �<<���� �� �<<��<���	� 	���$%��$	 	��
!���� 7��� 	���$%��$	 	�� !���� ��������� ��� !��� ���� 	� ��� E$�	�	���� 	����
���� �	��� �$����	 ��%����	��� ��� ��	$�� ��%�� ������ ��	� �*<����	���� 	��	 ���
��	����� 	� �����	 ��$ �� ��$� $�����	�����%�
9��<	�� � ����� �	 	�� ��=���<���	 �� ��������� �� � ��%$��	�� <���������� ����

���� 	� ���6� ���� � ��� =������ �� 	�� 
����=�� �$��� �� ����	��% <$!����	����
9��<	�� 6 ���	��$�� ��	� �	�	$	��� ��%$��	��� !� ����������% �	�	$	��� �$<��=�����
�� �����=�� ��� ������% ��	� ����%�� �������$�	� D�=��% ���������� 	�� <��8
��������� ����$�	�!���	� �� �����=��� 9��<	��  ��=���� 	�� ����$�	�!���	� �� 	��
>D
� 9������� %�=�������� ���� ����%����	 ��� 9>
� ��� ����$����� ����% ��	�



���<����	� ��� 	�� ���� �� 	�� D���	� 
��=��� )�!$������ 
�������� ����� ��=�
!��� $��� 	� %�=� ����%�	 ��	� 	�� 	�<�� �� ���$� 	��	 ����� ��� 	�� <������ 	��	 ��
���������
7���$�	�!���	� �� ��� �� ��=���� �� 9��<	��� � ��� ' ��	� ���������	��� ��

��%��%���� ��� !�		��� �� ���������� 5� 9��<	�� �� 	�� �$	� �� ���� ��� ��%��%����
�� ����$����� 9������ ����� ��=� !��� $��� 	� �*<���� ��� ���$�	��	� 	�� ��G��
<�����<��� ��� 	���� �� ���� ����$����� �!�$	 ��	�������% ��� ��	�������%
	���	���	� 5� 9��<	�� '� ������	 �� 	�� ���$�� ��� ��$�	�� ������ ��� �����<�	��	��
��� �����E$����� �� ������% 	� $<���� 	�� <�����<��� �$���$����% ������	 ���
����$����� �%��� ��	� 	�� ��� �� �<<��<���	� ��%�� ������ ��� <���	��� ��	� ��%��� 	�
���� !��	� �� ���� ����$���� �� 	��� ���<	��� �� ������	 �������	�� ��=��=�� 	��
��		�� �� �������
9��<	�� 4 ��=��� ��<��	� �� <�	���	@�����	 �������	���& ��%����	��� ��%�����%

��������% ��� ���������% �� �������	���� <�$� <���	���� ��<��	� �� ������ ���<��%�
�	�	����	 ��� ��<��	 ���	��%� 5� 9��<	�� 3 	�� ��� ����	�� 	� =����$� ��<��	� ��
����� !�����% �� ����������� ���� �����	�� �����<	��� 	� ���<	���� ���� ���<	��
���� ��������� 	�� <��	��	��� �� 	�� �������� ���� 	��� ��=� !��� !���� 9��<	�� �
����� �	 ��<��	� �� ��<������	 ���� ����$���% 	�� ��� <�����$��� ��� �����<����
��� %���=����� 5	 ���� ����$��� 	�� �$����	 ��	$�	��� ��	� ��%��� 	� ��	����	��
<�	����	� ��� <����	�� ���=�� ���� �������	��� �� ��<��	��	 ��� ��$ �� ��<������
!$	 ���� ��� 	�� ����� ��� ���� ��$ ����� 7��� ����$��� ��� ��<��	� �� ���8
�������	��� �� ��<������	 ��� 	�� ��%����	��� ��%�����% H����	�� !�����%F�
��� ����� ���<	��� 9��<	�� ��� �� �!�$	 �<<����	��� 	� <���	���� ����� ���������

����� ��� �������� ��	� ��%��� 	� 	�� ����$�	�!���	� �� 	�� �����=�� ����������
���� 	�� <���<��	�=�� �� <������������ ��=�� ��� ��<������	 ���� ���� !���% 	� ����
	�� <���	���� �<<����	��� �� 	�� ��G�� <�����<��� ����$���� ������� �� 	�� !���� ?��
	��� ������� �	 �� ��<��	��	 	��	 ��$ ���� �	 ����	 9��<	��� 6A' ��� � !�����
��������% 	���� ������ �� 	�� ����$������ ���� ���		�� ��	� 	��� <���� ������% ��
�����
7	 	�� ��� �� ���� ���<	�� 	���� ��� �$%%��	�� ��	�=�	��� 	� �$�	��� ��=���< ��$�

�������%� ��� ��	����	 ����	�� 	� 	�� ���	��	 �� 	��	 ���<	��� .����	����% 	����
��	�=�	��� ��$�� ���� <��	 �� ��$� #��# ��=���<���	� ;��	� $< ���	 ��$ ��=�
����� ����% ��	� ��$� ������	��� �� ���	 ��$ ��=� ������� ��� ��� �	 ���� �����	
��$� �$	$�� <���	���B ������	� 	�� 	��� 	��	 ��$ �<��	 �� 	�� ����� <������� 5�
����	���� ����������� �	�	$	�� ��� ��%�� ����� $��� ��=� !��� ����$��� �	 	�� ��� ��
���� ���<	�� ��� ���� �� ������� ?$�	��� ������ 	� �<������ ����� �� 7�	� �� #�����8
���	 ��� !� %����� !� $�� �� 	�� ����=��	 	�!��� �	 	�� ��� �� 	�� !���� ��	��� 	���
	�� %������ ����*� 7 ����	 %������� �� 	���� ��� ���� !��� ����$����
��� ����	 ���	��� �� 	��� !��� ��� ���		�� !� � �������� �������� �������� ��	 !�

� ������� 5	 �� �<<��<���	�� 	��������� 	��	 	��� ������ ���	��� �� ���� ���		�� !� �
������� ��� 	�� !�����	 �� �	��� �����=��� 5	 �� ��<��	��	 ��� �����=�� 	� ��=�
�$�������	 $�����	�����% �� ����� 	� ���� ����� �� 	�� ��%�� <�����<��� 	��	 �����	
�$� ���8	�8��� <���	���� ��� ��	��	��� �� 	��� !���� �� <��	� �� 	� <��=��� �����8
��%�� ����� <��=���� <���� ��� ����������� D���=��� �	 �� ���� 	� ����� ���� ��
	�� ��*��	��� 	��	 �����=�� �*<���� �!�$	 	�� ����	����	� 	��	 	��� ���� 	�� ���
��<���� �� 	���� <���	���� 5� ���	� 	�� ��� ���E$��	�� �<���	�� �� �$�� � ��� �� 	�
���!�� �����=�� 	� �*	��� ��� ��=���< 	���� <���	���� 5� ��	���% ����� �	 �� ��<��

��� �����
������



	��	 �����=�� ���� ������� 	��	 �� ���% �� 	��� $<���� 	���� �$	� �� ���� ��	���
����<	�!�� �	�������� ���<��	 	���� �����	�F ������ ��� ���$�� � %��� �	������ ��
������ ���<��%� 	��� 	��� ��=� =��� ��		�� 	� ���� ���� ��� ��<��	 �� 	�� ���� 5 ��<�
	��	 ��$ ���� ���� 	�� !��� ��	����	��% ��� $���$�� <��	��$����� �� ��$� <�����������
��=���
����$%��$	 	�� !��� 	�� ������� ��� !��� �������� 	� �� ������� <$���� ��� ����

�� ���	��%� !$	 5 ���� 	� ���������%� 	��	 	���� ��� ���� �����=�� �� <���	��� ��
	�� ./ ��� 	�� ���	��	� �� 	��� !��� ��� ���� ����=��	 	� 	����

�����
������ ����





������� �

��� ���
� ��
������

���� �� 	�
�

��� �� � ��������� !� ����� � �����	� ��	������� ���	��� ��� ����� �� �	� �$!8
G��	�� 5	 �� � ������ ����� �� ��%$��	��% � �	�!�� �$��	�����% �� �����	�� ��	��� ��
�	����� ���������� !$	 $���� <���	���� ����$���� 1
��<<�� I /���� ����& �2� ���
����$��	�� �$��� !� ����� ��� ���!��� �� � �����	� ��� �*<��	�� 	� �!���� �����
�$��� ��� ��	����� 	� <��=��	 �� ���� ��	� �������	� <����!�	 ��� <�����$	� $���8
��<	�!�� !���=��$� 	� ����%$��� $� ���� ����B 	��� ��� !� ��	����� H���� �� 	��
����F� ����� �<<�� 	� 	�� ����� ��$�	��� �� ����� H!�8����F 1��=��� ����& �42� ���
��	������� ���	 ����	�	$	�� � �������� ������� ��� ��� �	 ���$�� !� <$������ ���
�	 <��=���� � ��������� ��� 	�� ��		�����	 �� ���<$	��� 5	 �� ��	 ������$�	 	� ���%���
���	 	�� �!����� �� ��� ��$�� ����	� A ���������	�� �������� ����� ��� �� ����
���!���%� �� 	��	 �	 <����	�� �E$�� �<<��	$��	��� ��� ���� ����$���% 	���� ��	�
����!���	���� ����� ���� ������% 	� <��	��	 ��� ���!��� �� �����	�� ��� ���	����� !�
��%$��	��% ����	� ���� <����������� ���� <��=��� $� ��	� ��%�	� ��� �$	���& ��%�	�
���$�� !� ���<��	�� ��� �$	��� �!����� 5� 	��� ����$�� �� �������� !� ��� ��	�J���
	��� �	 ����	�� �������� �� �����	��
)�� ��� �� $�����	�����% ��%���� ���� ����� %�������� ����$��� ;�����

�*��<	 ��	� ��%��� 	� 	�� ��%�����	��� �� 	�� ����	� ���=��� 1
��	%����� ����&
'2� �� 	� ���� ����	 �	 ��� �	 �� ��=���<��% ��� 	��� 	� �*����� ��� 	�� ��%�� ���8
	�� �������	��� 	�� ��� �� !����� �� 	�� <��<��� ;��	� 1����& � 2 ��%$�� 	��	
�$� ��%�� ���	�� �� ��	 ���	���	��� �� �$�� �� �	 �� H� � � 	�� ���$�	 �� ���	������
�����	��� ��	��� 	��� ��%���� <���F� D���=��� ���� ��%���� �	�<� ��=� !��� 	����
��	� 	�� <����%� �� ���������	��% 7�	�� �$�� �� 	�� 
����=�� 7�	 ���� 1���%
����� ����=�� ���� �	�	$	�2 ��� 	�� 9������� 7�	 ��3�� ������ �� ���� �����
�$����$� <����� �� ��%����	��� ���� !��$%�	 	�%�	��� ��	� ���� ���� �������	
���$���	�
��%���� ��� ��� ��=���<�� ���� 	���� ���� ��$���� A �	�	$	�� ������ ��� ���

�$��<��� ��� A ��	��� ����� 	���� ��� =����$� ��	�%������ ��	� ���� ��%��� ��
�=����< 1
��<<�� I /���� ����& �A32�

����
���� 	�



	�	$	�� ��� 7�	� �� #��������	 ��� ��� 	�� ���	 ��<��	��	 ��$���� �� ���� ����
��=� 	� !� ��	��<��	�� !� G$�%�� !$	 ��� �=���$�� <��=��$� ��������� ���� ��
������ ���� 5� 	���� �� ����� =��$��� 	��� ���� ��<�����	 	�� ��G�� ��$��� ��



��� ��� �$���% 	�� 	���	��	� ���	$�� ��� 	� ��	�� ��� �$��	���� �$������� !�
�	�	$	�� ���&

� ����	��� �� ��� ��� A ��� �*��<��� 	�� 9��%���	�� ,���!���	��� 19�=�� ���!���	�2
7�	 ��4'� ���� 7�	 �� ��	�� 	��$%�	 	� %�=� ��%�	� 	� 	�� ��	$� ������� �	� ��	$��
�$��	��� �� 	� %�=� ��%�	� 	� 	�� ��=�8!��� ����� 	� ����� �%����	 ���� ��$��� 	� �	
����� �� �
���B

� ��������	 �� �*��	��% �	�	$	��� ��� A 	�� D$��� ?��	�����	��� ��� ��!�����%�
7�	 ���� ������� 	�� 7!��	��� 7�	 ��'4 ��� 	�� 
$���%��� 7����%����	� 7�	
��3�B

� ��������	� ���������	��� �� ��������	��� �� ���� ���B
� 	�� ��<��� �� �*��	��% ��� A 	�� D���	� 7�	 ���� ��<����� 	�� >$����� 
����=���

D���	� :���	��� 7�	 ���4� ����% �	���� ����	�� 	� �	��� ����	� ���� <��8
����������B

� ���������	��� �� � �$�!�� �� ���<���	� ���� ��	� ��� A 	�� 9������� 7�	 ��3�
���������	�� ��� �*��	��% ��%����	��� ����	��% 	� 	�� ���� �� ��������� �*��<	
���<	���� ��	� ��� ���$���	� �� ���� �� ��	���$���% ��� ��%�� <�����<���B

� ���!�����	 A 	�� <������ ��%����	���� ���� 	�� 7�	� ������ ��� ��������� ��%����8
	���� �� �$!��E$��	 ��%$��	����� 	� ���� �� 	�� ��	��� �� 	�� ��� ��	��$	 !���%
�$!G��	 	� � �$�� ��!�	� �� #��������	� ��� >$����% ��� 
�������� )���� ����
1
5 ���� >�� ��62 ��� 	�� D���	� #���������� )���� ���� 1
5 ���� >�� �� 2� ���
������ ����	� ���� <������������� <��=��� 	�� ��	��� �� 	�� <����������� ��%$��	���
�$	����� �� 	�� D���	� 7�	 �����

7� 7�	 �� #��������	 �� ��������� !� ����� 7����	� ��=��% <����� 	���$%� �
�$�!�� �� �	�%�� �� ���$	��� ��� ��!�	�� ;��� � %�=������	 �� ���	��<��	��%
��� ��%����	��� �	 ��� ������ 	� <������ �� =����$� ����� 5	 ��� !���% 	�� ��		��
�����	�� 	� #��������	 !$	 �	 ��� ������ 	� ���� <$!��� �<����� ����	� �� ��	��� 	��	
�� =��� ��<��	��	 �� � �������	�� �	�	�� 5	 ��� �� 	��� ��	� 	�� <$!����	��� �� �
(���� �� ;��	� #�<���

����� �����

7 (���� #�<�� �� � %�=������	 ����$�	�	�=� ���$���	� ���$�� ���� � ���� ���%�
�� =���� �� ��E$���� !����� ����	��% <�	��	��� ��%����	���� ���� ����$�	�	���
����$��%�� ������	 ���� �����	���� ��=�� ���=��	� ��� 	�� %������ <$!����
	���$%� ��%�����	����� <����$�� %��$<�� �����	��� ��� ����=��$�� ���!��� �� 	��
<$!���� >�	 �=��� "��� ���� !� <������� !� �$�� � <�<�� ��� ��	 �=��� (���� #�<��
���� <��%���� 	� ��%����	���B �	 ��� !����� 	�� !���� �� � ��	����� <����� ���$���	�
���  ���
���� !�
������ � (���� #�<�� <���$��� �� ���3B �	 ������ � !���%��$��
	� 	��;��	� #�<�� ��"��# ��"��� ���  ���
���� !�
���� <�����	�� 	� #��������	 �� �
�$�� �����

�	
�� �����

;������ � (���� #�<�� �� ����$�	�	�=�� � ;��	� #�<�� ��	� �$	 � %�=������	F�
��	����� <����� �� � ���� 	��	 ���!��� <��<�� 	� $�����	��� �	� 5	 ��� �� ��� ��	
������ 	�� ���<���� 	� � (���� #�<��� 5	 $��� �=������ ���%$�%� 	� ������!� 	��

� ��� �
� 
�
 ��� ��
��	�



���	��	� �� �� ��	����� "���� ���� <��<���� ��%����	���� ���$
���� � !�� �$$���	�
��� � ;��	� #�<�� <�����	�� 	� #��������	 �� �� ,����!�� ����B 	�� �$!��E$��	
"���� ��	�	��� 	�� 7��<	��� ��� 9������� "��� ����� ��� ����� <��%������ 	���$%�
	�� <������� !������% 	�� 7��<	��� ��� 9������� 7�	 �����
7�	��$%� � ;��	� #�<�� �� ��	 � ����$�	�	��� ���$���	� �	 �� <����!�� 	� $�� 	��

<��������	��� <������ �� 	�� �$!��E$��	 "��� <����� 	���$%� �	� �	�%�� 	� ����$����
��� <����!�� ��	�� 	�� <������

��
�������� �� ��
���� ���
����
��

#������ ��%����	��� ������	� �� 7�	� �� #��������	 	��	 �	��	 	�� ������ <������ ��
	�� ���� �� "����� ��� "��� �� $�$���� <�����	�� 	� 	�� D�$�� �� 9������ 1D�92 !$	
������������ 	� 	�� D�$�� �� ����� 1D��2� 5	 	��� <����� 	���$%� ��=� �	�%���

	�� 
���� ���
���

���� �������	� ����$��� 	�� ��	���$�	��� �� 	�� "���� �����!� 	�� ���% ��� ����	
	�	��� ��� ����� � ��	� �� ��	 ��� 	�� ������ ������% ��� 	�� <���	��% �� 	�� "��� ��
��������

	�� �����
 ���
���

���� ���	���� �	�%� ������	� �� �*	����=� ��!�	� �� 	�� <�����<��� �� 	�� <��<����
��%����	���� $�$���� !� 	�� ;���� D�$��� D���=��� ���� ���8���	��=������ "����
��� !� ��!�	�� !� � H������ ������% �����		��F� ��	 $< ��� 	��	 <$�<��� 1
��� I
;��	��� ���3& ���2� 5� �	 �� �<<��=�� �	 	�� ��� �� 	�� ��!�	� �	 ��=�� 	� 	�� ��*	
�	�%�� ��	� � %��� ������ �� �=��	$���� !������% ����

	�� ��������� �����

5	 $��� 	� !� 	��	 ���	 "���� ���� ���������� !� 	�� ;���� D�$�� �*������% 	��
<��=������ �� 	�� "��� �� ��	���� ���$�� !� ���$��� ������ ����=��� "���� ����������
!� 	�� ;���� D�$�� ��� 	���� 	��	 ��� $����<����	�� ��� 	���� ����� 	���� ��
�*	���� $�%����B �� !�	� ����� 	��� ��	��� ��=�� 	���� 5� ����	���� �	 ��$��
�������� ��G�� ����	�	$	����� "����� �$�� �� 	���� 	��	 ����	 ��	� ��=��$	��� ���

��	���� ��� ;���� 1
��� I ;��	��� ���3& ��62�
5� ��� �	��� ������ �� ���8<��	� �	�����% �����		�� �� 	�� D�9� �����

���!�����< ������	� 	�� ���<���	��� �� 	�� �$�� D�$��� ����� ��	� 	��� ��	�����
���$	��� ��� ��!�	�� 5	 ��� 	�� <���� 	� ���� ��������	� 	� ���$�� 	��	 	��
��	��� �������� 	� 	�� �=����� �<<��=�� %�=�� �� 	�� D�9 ��!�	�� 7� <��	 �� 	��
<������� 	�� �����		�� ��� �����=� ��<�����	�	���� ���� ��	����	�� <��	��� ��
�*<��	 ��=���� 7� 	�� �����		�� ��� 	�� ���� <��<��	���� �� %�=������	 ���
)<<���	��� ���!�����< �� 	�� �$�� D�$��� �	 �� ��	 ���� ��� )<<���	��� ���!���
	� �����=� ��������	�� $����� 	��� ��� �� ���� ��	� %�=������	 <����� �� � ��%8
�������	 �$�!�� �� %�=������	 !���!������� ��� <���$���� 	� �<<��� 	���� ���
<��	��

��� ���
� ��
������ �



	�� ������ �����

;���� � �����		�� ��� !��� $���� �	 ��<��	� !��� 	� 	�� ;���� D�$�� ��	� �	�
����������	����� ����$���% ��� �$%%��	�� ��������	�� #��<���� ��������	��
���� 	�� �����		�� �� �	��� 
#�� ��� 	��� ��!�	�� !� ��� ���!����

	�� ����
 ���
���

���� �� 	�� �<<��	$��	�� ��	�� ��������% �������	��� ��	�� 	�� ��<��	� ��� �$�	���
��!�	� �� 	�� ���	��	 �� 	�� ������� "���� !$	 �� �$�	��� ����$����� �� 	��
<�����<��� ��� 	��� <����� ?�������% 	��� ��!�	�� 	�� "��� �� 	��� <����� 	� 	�� D���

	�� ����� �
 ���
�


������ �	�%�� �� ���������	��� ���$� ����� !$	 	�� ;���� D�$�� ����� 	�� ���8
��		��� ��� "��� 	��� ��	$��� 	� 	�� D�9 ��� ���������	��� �� ��� �$�	��� �����8
���	� ��� ����������	���� ����� 
��� "���� �	��	 �� 	�� D��� ��	��� 	��� �� 	��
D�9� !$	 	�� ����� <������ �$�	 !� �����=�� �� !�	� D�$��� !����� � "��� ���
!����� ����

����� ������

)��� 	�� "��� �� <����� !� 	�� 	�� D�$��� �	 �� <�����	�� 	� 	�� ������� ���
��%���%� 9��=��	��� ��E$���� 	��	 	�� ������� ���$�� %�=� �����	B ��� ���8
�<<��=�� ��� !� �*<������ <��=�	��� !$	 	�� ����	�	$	����� �$	� �� 	� %�=� �����	
1��=��� ����& 4�2� 5������	��� ��������% 	�� ��%���%� 	�� "��� �� ���	 	� 	�� D�� ���
<����$������	 ��� �	 	��� <���	 �	 !������ ����	��� ��	� �������	� �����	� $�����
<��=����� ��� � ��	�� ��	� ��� �<���������� ���� �� 	�� 7�	�

���� <������ ��� ���� 	� !� � ���<����	�� ��� ��� 7�	� �� #��������	 	� !�
<������ <��	��$����� �� � "��� �$�	 ���<��	� 	�� <������ ��	��� ��� <��������	���
������� �� ���� 	�	�� ���� 1
��<<�� I /���� ����& � 2� D���=��� �$�� ��%����	��� ��
��	 ���	��=������ ��� 	���� �	�%�� ��� !� <����� �=�� E$������ 5������ �� 	���� ��
������ �� $�%��	 ����� ���� "���� ��� !� �$���� 	���$%� 	�� ����� <������ �� �
��		�� �� ����� ?�� �*��<��� 	�� ��������� "��� ���3 <����� ���� 	�� ����	 ������%
	���$%� ��� �	�%�� ��� !��� 	� 	�� D�9 �� ���� 	��� ��� ���� 1��=��� ����& 462� )�
	�� �	��� ����� ���� "���� ��� �*	������ ���	��=������� �$�� �� 	�� 9������� �$�	���
"��� ���3� ����� �	 ��� ��	����� 	� ���$�� 	�� �%� �� ������	 ��� ������*$��
��	�=�	� 	� �' ������ �� �� 	�� ���� ��� ��	�����*$�� ��	�=�	�� ��� D�� ��� ��	 �%���
��	� 	��� <��	 �� 	�� "��� ��� 	�� ����� 	����	���� 	� �$� 	�� ����� "��� �$	 �� 	����
��� ��������% <��=����� ��� ����=�� �� ����� 	� ���$�� 	�� <����%� �� 	�� ���	 ��
	�� 9���� ��� ,������� 7�	 ���3 1
��<<�� I /���� ����& � 2� 
��� "���� ���
���	��=������ !$	 ��� �$���� 	���$%� �� �� �		��<	 	� <��=��	 $��	����� ��	��� ��
����=� �� �<<����	 ���<����� ��� 
$���%��� 7����%����	� 7�	 ��3� �� ���
�*��<�� �� 	��� <���	���� ��=��% !��� � ����8G��� ����	��� 	� 	�� ;������ ��<��	
1,D

 ��3 2� ���% !����� 	�� �=��	$�� ��%����	��� ��%�����% �����	���	� ���$�� ���
<������ �� ����� �� 	�� ���� �� 	�� D$��� ?��	�����	��� ��� ��!�����%� 7�	 ����
1
��	%����� ����& 32�

� ��� �
� 
�
 ��� ��
��	�



7�� <������ ��%����	��� ����� <��������	��� 	��� ��� �	 ��$�� !� ��<����!�� ���
#��������	 	� �������� �=��� ��	��� �� <��<���� ���� ��<������� �� �$�� �� �	 �� =���
	��������� �� ���� ��	� 	�� ���� �� 	�������� ���� �$�� <������ ��%����	��� ��
���!���%� 5	 <��=���� � %������ ���������� ����%�	��% �$	����	� 	� � �����	�� 	�
��	���$�� ��	����� ��������� ��%����	����

��������� ���
����
��


�������� �� ����%�	�� ��%����	��� �� ����=�� ���� <����� ��	 �$	 �� <������ ��%8
����	��� ��� 	���� 	�� ���� �� 
	�	$	��� 5��	�$���	�� ��� ��=��	�%� �� $���%
��������� ��%����	��� �� 	��	� ��	� 	�� ��%��� 	�������� ��	$�� �� ���� ����� �	 ���
!� ����� $< ��� �<<��=�� !� �*<��	� ��	� ����%�	�� <����� ���� �� �	 ��E$����
�$!��E$��	 ��������	� 	��� ���� ��	 ��=� 	� ���	 ��� <��������	��� 	���� 5	 ��
��	�� 	�� ���	 ��<��	��	 ��$��� �� ���� <��	��$����� ��	� ��%��� 	� <�����������
��%$��	��� 1
��	%����� ����& ��2� 7� �*��<�� �� ��� 	�� ���	�� ����� �� 	��

����=�� �$��� ��� 9��� �� #���	��� 1./99 ���32� ��� <������ ��%����	��� ���
	�� >$����� 
����=�� ��� D���	� :���	��� 7�	 ���4� ���� 7�	 ���	��$�� 	��
��<�������	 �� 	�� .��	�� /��%��� 9��	��� 9�$���� ��� >$����%� 
�������� ���
D���	� :���	��% 1./992 	� ���� $< 	�� �$��� ��� ����� ��� ����� 	��� ��
���������� ��� ./99� �� ����$�	�	��� ��	� 	�� 
�������� 9����		��� ����
��������	� 	� 	�� 
����=�� �$��� 1���62 ��� 	�� 
������F� 9��� �� #���	���
1��� 2 ��� ����%���	�� 	��� ��	� ��� ���$���	� <$!������ �� ���3� "� ���8
�$�	�	��� ��	� 	�� 
�������� 9����		��� 	�� 9�$���� ��� $���% 	�� <�����������
�*<��	��� �� <���	����% �����=�� 	� ����� 	�� ��%����	����

��� �����	��� �� ����� 	�� >$����% ��� 
�������� 9�$���� 1>
92 ��<����� 	��

./99� ��������% 	�� >$����% ��� 
�������� )���� ���� 1
5 ���� >�� ��62� ����

5 �� $�$�$�� ��� ���<����	�� �� �	 �	����� ���� ���	��� '� �� 	�� D���	� 7�	
����� ����� ������ ��������� ��%����	��� 	� ����� <������ ��%����	��� ��	� ��%���
	� ��%$��	��% ����	� ���� ��� �������	�� <����������� 5� 	��� ���� 	�� >$����% ���

�������� )���� ��<����� 	�� >$����� 
����=�� ��� D���	� :���	��� 7�	 ���4�
<�����% ��� 	�� ����=��	 ��%$��	���� �� 	�� )���� 1<������� ����$����	��� ��	�
#��������	� �� � �$�!�� �� �����=�� ���	 	��	 	�� )���� ��� <������ ��%����	���2�
��� >
9 ��� 	��� ���!��� 	� <���$�� � ��� ���� �� ������������ �����	
 1>
9
����2� ���� =������ ��� �*<����� ��� ��<����� 	�� <��=��$� ���� �� ������������
�����	
 1./99 �����2� �	�$� �� ������������ ���	
�	� 1./99 ����!2 ��� %����&
����� ��� ������������ ���	
�	� 1./99 ���'2� 7	 	�� ��� �� ����� 	�� >
9 ���8
�$�	�� � ����$�	�	��� �� ����� 	� $<��	� ��������� ��%$��	��� �$�	���� ���$�	��% ��
��� 
����=�� �$��� 	� !� <$!������ �� ��� � ��� ����� �� <$!����	��� �� ������ 	�
�<<��=�� ��� 	�� ��E$���� ����%�� 	� 	�� #����������� ��%��	��� ��� ��������% �$���
��� %$�������� ���� 	� !� $<��	�� ��������% 	� <�����	���	��� �� ����� 	���$%�
�$�	��� 
	�	$	��� 5��	�$���	� 	��	 ��E$��� 	�� �<<��=�� �� 	�� #��=� 9�$�����
)��� 	�� ������% �� 	�� ��%����	��� �� �%����� 	�� 
����	��� �� 
	�	�� �� 	��� ����

��� D���	�� �������� 	�� ��%����	��� !� �����% �	 !����� !�	� D�$��� ��� �<<��=��� 5�
���	��� D�$�� ��� ���$���� 	�� 
5 ��	���  � ���� �� �	� <�����	�	���� 	��� �	
!������ ��� 1
��� I ;��	��� ���3& � 32� 
�������� ��%����	��� ��� 	�� ���� ��%��
<���� �� <������ ��%����	���� �� ���% �� �	� ���	��	 �	��� ��	��� 	�� �$	����	� �� 	��
<����	 7�	�

��� ���
� ��
������ �




���� ��=��$	��� ��� 	�� �����	��� �� 	��;���� 7����!�� �� ����� 	�� <���� 	�
���� ��������� ��%����	��� ��� ��=�� ���� 	�� 
����	��� �� 
	�	� ��� ;���� 	� 	��
7����!��� 
$�� ��%����	��� ���� !� ���� 	���$%� 7����!�� )������ ����� ���� !�
�*������ !� 	�� 
$!������	� ��%����	��� 
��$	��� 9����		��� 	� ���$�� 	��	 �	 ��
��	��� 	�� 7����!��F� <������ !����� !���% <�����	�� 	� 	�� ����� 7����!���
,��<$	�� �=�� ��� <�����=�� �!$�� �� <���� ��$�� !� �������� 	� 	�� #��=� 9�$����
1
��� I ;��	��� ���3& � �2�

��	�� ����
�������� ���������

"����� ��=��% �� 	� ����$�� �	��� ��$���� �� ���� 	���� ��� ���� �	��� <�����8
���	��� <�������� 	��	 ��� ��<��	��	� �=�� 	��$%� 	��� �� ��	 �� 	������=��
<���$�� ��%����	����

������������� ������ ����������

����� �����		��� ������	 �� <��������	��� !���!������� ��� ���� � ���	�� 	��	
������	� 	�� ��G�� %�=������	 ��<��	���	�� ?�� ���	����� 	���� �� � D���	� 
����	
9����		��� ���� �����		�� ��� � 9����� ����	�� !� �	� ���!���� ��� ���<�����
���!��� ���� =����$� <���	���� <��	���� ��	��$%� 	�� �=����� !������ ��$�� ������	
	��	 �� 	�� D�9� ���������� 	�� �$���% <��	� ���� ����	�	$	� 	�� ��G���	� �� 	��
�����		���
7 �����		�� ��� �� �	�	$	��� �$��	��� ��	��$%� �	 ��� �*��	 ����$���� �� <������

5	 ��� 	�� <���� 	� E$��	��� �����	��� ��%�����% <��	 %�=������	 ��	���� <�����	
<������ �$	$�� %�=������	 ��	��	���� ��� 	� ���$	����� �*<����	$��� ��� ������%�
��� <$!��� ��� 	�� �=������ 	��	 �� �!	������ !�	� ���		�� ��� =��!��� �� <$!�������
7 �����		�� ��� ���<��	� ������� �=�� 	�� 	�<��� 	� !� �	$����� ��	��$%� �	 ��

��	�� ����$����� !� �$����	 ��		��� �� ���	��=����� ;��� ����$�	��% �� ��E$����
� �����		�� ��� ��=�	� �=������ ���� � ���� ���%� �� ��$���� �� ���� �<<��<���	�
=���	� �� 	�� ���!��� !����=� 	��	 	��� ���� ������ 	���� ����� ����������	�����
;��� ����������% ��		��� �� � 	�������� ��	$��� �	 �� $�$�� ��� � �����		�� 	�
�<<���	 � <���� �� ��=����� 	� �����	 �� 	�� ��E$���� ����� ��=� !��� � �$�!�� ��
����$��	��� ��<��	� �� ��	����	� ���=���� ���� 	�� D���	� 9����		��� ��� D���	�
9����		�� 
����� ��<��	 �� 	�� 
�	����	� 
��=���� 1,D

 ����2 ��� $����	����
���� 	�� �����		�� ��� ������� !� >������� ;��	��	�� 
#� 5	 ���$�	�� ���� �
���� �<��	 ������% �	 	�� %������ <��=����� �� ��	����	� ���=����� 5� ����� 	����
��� 	�� D���	� 9����		�� 
����� ��<��	 �� 	�� ��!���� 5��$�	�� ��� 	�� D���	�
����� �� 
�����% 1,D �����2�

�����
�� ������������� ���������

>�	 ��� <��������	��� ��<��	� �����	� ���� 	�� �����	 �����		�� <������� 
����8
	��� ��� ����� �� ��E$��� �� 	��� !����=� 	���� �� � ��		�� �� <$!��� ��	����	� ?��
�*��<��� ��������% 	�� ;��	��	�� ��<��	 1,D

 ����2� ����� 	�� ���� �����8
�����	��� �� 	�� ��<��	 ��� 	��	 �� �*<��	 �����		�� !� ��	 $< 	� ��=��� 	��
<����� �� ���� ��� �����8!�����% ������ ���� �����		�� ��� ��	 $< $���� 	��
�����������< �� "������� 9$�!����%�� 	�� �$���� D���	� 
����	��� ��� 	��

� ��� �
� 
�
 ��� ��
��	�



���$�	��% ����#��# �����'��
�� ��$��
 �� 
�� (
$��
 ��
����
� %���$ ��� <$!������
�� ���6� 5� ���� 	�� 9���� 
������ )������F� �*<��	 (��$< �� 9�����% <$!������
	���� ��<��	 A �
�) ���� ������	�� ����	�� ���#���� ��
� ���$����'���
� 1,D ����!2�
7��	��� �$�� %��$<� 	�� ./ �*<��	 7�=����� (��$< �� 75,
� <��=���� %$������
�� D5: ��� �����	 ������% �� ���� 1,D ����2�

������������� ��������� ��
 ������
�� �������

(�=������	 �����	��� ��� ����$�	�!�� ��� 	���� ��	���� 	� #��������	 ��� 	� 	����
!���!�������� ����� ��� 	�� ���������� 	��	 
#� ��� $�� 	� ���� �����	��� 	�
����$�	� 
����	��� �$�	 ������ E$��	���� <$	 	� 	��� !� 
#� ���� ����� �� �
H<��������	��� E$��	���F� ��� ������� ��� !� %�=�� =��!���� �� #��������	 �� �� �
���		�� ������� 7�	����	�=���� ��	���� ��� !� ���� !����� #��������	� �����
��	���� ��� <����� �	 	�� ,��<�	�� "�* ��� ����=��$�� 
#� ��� 	��� ��%� 	��� ��
	��� �$<<��	 	�� <�����<��� 5� �$�������	 
#� ��%� �� H�����8��� ��	���F� �� �	 ��
������� ������	��% %������ �$<<��	 �� 	�� D�$��� 	�� %�=������	 ��� ��������
��%����	��� 	� �$<<��	 	�� <�����<���
#��������	��� E$��	���� ��� �����8��� ��	���� �� 	���� ��� ��� ��	 =���

����$��	��� �� ���<��% %�=������	 <����� ��� ��%����	���� D���=��� 	��� ��� !�
$��� �� ���G$��	��� ��	� <��������	��� ��!!���% ��� �	��� ����� �� <$!���
<����$�� 	� ����$���� �	�	$	��� ���� 7��	��� ����� !$	 ��<��	��	 $�� �� 	�� <��8
������	��� E$��	��� �� 	� �!	��� �������	��� 	��	 ��$�� $�$���� 	��� 	��� 	�
���������

	�� ������� ��� ���! "���

)������� 
#� ��� !���% 	���� ��� "���� !����� #��������	� ���� �� � ������$�	
<�����$�� �� 	��� ��� ����		�� <��������	��� 	��� �� 	�� !���� �� � !����	� ����� ���
��������� ���� ���$�� �� ��<��	��	 �	����� ��<����	��� ��� �=��	$���� ���� ���
	���$%� 	��� <������� ����� ��� ���� ���$�� 	��	 <���	���� <��	��� <����� ��	 	�
�$<<��	 !$	 ������ ��=��	������� ��E$��� �	�	$	��� �$<<��	B 	�� #��=�	� 
��!���F
"��� ��� !� 	�� ���� ��� 	� �����=� ���������	��� �� 	��	 ���$�� 7 ��	�!�� �*��<��
�� 	��� ��� 	�� 7!��	��� 7�	 ��4'� ��	���$��� !� ,�=�� 
	���� 7��	��� #��=�	�

��!���F "��� 	� ����	� � ��G�� ��	����� �	��� ������ 	�� D�$�� ��� �$	� ��� 
���
?��	��F� "��� ������% ��� � !�� �� �$�	��% ��	� ��$����
7�	��$%� 	�� H��		���F �� � <��������	��� !����	 ����� 	��	 	��� 	�<� �� ��%����	���

�� ��	 ������ �����=��� 
#� ����	���� ��� <��������	��� 	��� ����	 ��� �$!��8
E$��	�� ������ � �$!G��	 	� <$	 �������� ���� ��$�� !� ���������� 	� !� ��=��$�
<���	��� !$	 �	 �� �� ����� �<<��	$��	� 	� ��!!� 	��	 
# 	� 	��� $< � <��	��$���
��$���

������ 	�
 ����� 	�
�

.�	�� 	�� 	���	��	� ���	$��� 	�� ���	 ��<��	��	 ��$��� �� ��%���� ��� ��� ���8
��� ��� �� ���� ���� 7�	��$%� �	� <���	��� ��� !��� �=��	���� !� �	�	$	��� ���� �	
�� �	��� �� %���	 ��<��	���� ��� ��� ���� ��%�������	 ���	��!$	���� 	� ����	� ����

��� ���
� ��
������ �


